RF Design - Noise

Exercise 1. What are the minimum possible values of T, and F?

ok e pnman Cro Al o)

Has Jwes F= (OQB>-

Exercise 2: The datasheet for a low-noise amplifier (LNA) specifies
a noise figure of 2 dB. What is the noise temperature T,?
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Exercise 3: An LNA with a noise figure of 0.3 dB receives a signal
with an SNR of 6 dB. What is the output SNR?
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Exercise 4: A What is the system noise figure of a receiver that
consists of a 10dB amplifier with 3 dB noise figure followed by a Q
mixer with a 6dB loss and an IF amplifier with a 20dB gainf\ W0\ Woise g
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